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QUESTION 1

You created a KVM compute host and the node displays on the CloudSystem Console Compute Nodes overview with a
status of "unknown." What is the most likely explanation for this? 

A. The host has not been activated. 

B. The host\\'s kernel is the wrong version. 

C. The host has no network connectivity. 

D. The HP Cloud Compatibility Pack is not installed 

Correct Answer: D 

 

QUESTION 2

How does HP HelionOpenStack provide customers with a business-ready version of OpenStack? 

A. It provides HP support and indemnification against copyright disputes 

B. It provides a full platform of developer tools, such as MySQL, and supports a variety of scripting languages. 

C. It provides management of server, storage, and network hardware in an HP ConvergedSystem 700x 

D. It provides drag and drop design for services and a catalog to which IT can publish the services 

Correct Answer: B 

 

QUESTION 3

When a company\\'s private cloud is integrated with a public cloud, which cloud deployment model does this represent? 

A. Community cloud 

B. Distributed cloud 

C. Managed cloud 

D. Hybrid cloud 

Correct Answer: D 

 

QUESTION 4

A customer has a CloudSystern Enterprise environment. They are expecting a temporary spike in infrastructure
utilization. Which option should you recommend to meet the increased demand? 

A. Implement a virtual private network to connect a second CloudSystern Enterprise environment using HP
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HelionFlexCloud. 

B. Integrate HP Helion Public Cloud as a resource provider into their existing CloudSystern Enterprise. 

C. Add an HP HelionFlexCloud option to their existing CloudSystern Enterprise environment. 

D. Create a CloudSystern Enterprise provider to use a second CloudSystern Foundation as a resource provider. 

Correct Answer: B 

 

QUESTION 5

A customer is unable to keep up with their internal IT needs using their traditional IT infrastructure model. They believe
that a service-oriented cloud model is the correct way forward, but need to know where to begin. Which HP Service will
help them understand the business impact of cloud and develop a strategy? 

A. Cloud HybridWorkload Analysis 

B. Cloud Design Service 

C. Hybrid Deli very Strategy Service 

D. CloudStart Service 

Correct Answer: C 

Reference: 

http://h20564.www2.hp.com/hpsc/doc/public/display?docId=c01038153 
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